# Weak Convergence Theorems for Nonself Mappings

LIU YONG-QUAN AND GUO WEI-PING

(School of Mathematics and Physics, Suzhou University of Science and Technology, Suzhou, Jiangsu, 215009)

Communicated by Ji You-qing

Abstract: Let E be a real uniformly convex and smooth Banach space, and K be a nonempty closed convex subset of E with P as a sunny nonexpansive retraction. Let  $T_1, T_2 : K \to E$  be two weakly inward nonself asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n^{(i)}\} \subset [1, \infty)$  (i = 1, 2), and  $F := F(T_1) \bigcap F(T_2) \neq \emptyset$ . An iterative sequence for approximation common fixed points of the two nonself asymptotically nonexpansive mappings is discussed. If E has also a Fréchet differentiable norm or its dual  $E^*$  has Kadec-Klee property, then weak convergence theorems are obtained.

**Key words:** asymptotically nonexpansive nonself-mapping, weak convergence, uniformly convex Banach space, common fixed point, smooth Banach space

2010 MR subject classification: 47H09, 47H10

Document code: A

Article ID: 1674-5647(2015)01-0015-08 DOI: 10.13447/j.1674-5647.2015.01.02

## 1 Introduction and Preliminaries

Throughout this work, we assume that E is a real Banach space,  $E^*$  is the dual space of E and  $J: E \to 2^{E^*}$  is the normalized duality mapping defined by

 $J(x) = \{ f \in E^* : \langle x, f \rangle = \|x\| \|f\|, \|f\| = \|x\| \}, \qquad x \in E,$ 

where  $\langle \cdot, \cdot \rangle$  denotes the duality pairing between E and  $E^*$ . A single-valued normalized duality mapping is denoted by j. It is well known that if E is a smooth Banach space, then J is single-valued.

A Banach space E is said to have a Fréchet differentiable norm (see [1]), if for all  $x \in U = \{x \in E : ||x|| = 1\}$ , the limit  $\lim_{t \to 0} \frac{||x + ty|| - ||x||}{t}$  exists and is attained uniformly in

Received date: Nov. 21, 2012.

Foundation item: The NSF (11271282) of China.

E-mail address: lyq60913016@hotmail.com (Liu Y Q).

 $y \in U$ . In this case there exists an increasing function  $b : [0, \infty) \to [0, \infty)$  with  $\lim_{t \to 0^+} \frac{b(t)}{t} = 0$  such that

 $\frac{1}{2} \|x\|^2 + \langle h, j(x) \rangle \le \frac{1}{2} \|x+h\|^2 \le \frac{1}{2} \|x\|^2 + \langle h, j(x) \rangle + b(\|h\|), \qquad x, h \in E.$ (1.1)

A subset K of E is said to be retract of E if there exists a continuous mapping  $P: E \to K$ such that Px = x for all  $x \in K$ . Every closed convex subset of a uniformly convex Banach space is retract. A mapping  $P: E \to E$  is said to be a retraction if  $P^2 = P$ . It follows that if a mapping P is a retraction, then Py = y for all y in the range of P. Let C and K be subsets of a Banach space E. A mapping P from C into K is called sunny if P(Px+t(x-Px)) = Pxfor  $x \in C$  with  $Px + t(x - Px) \in C$  and  $t \ge 0$ .

For any  $x \in K$ , the inward set  $I_K(x)$  is defined as follows:

$$I_{K}(x) = \{ y \in E : y = x + \lambda(z - x), \ z \in K, \ \lambda \ge 0 \}$$

A mapping  $T: K \to E$  is said to satisfy the inward condition if  $Tx \in I_K(x)$  for all  $x \in K$ . T is said to be weakly inward if  $Tx \in cl_K(x)$  for each  $x \in K$ , where  $cl_K(x)$  is the closure of  $I_K(x)$ .

A Banach space E is said to have the Kadec-Klee property (see [2]) if for every sequence  $\{x_n\}$  in E, with  $x_n \to x$  weakly and  $||x_n|| \to ||x||$ , it follows that  $x_n \to x$  strongly.

We denote by F(T) the set of fixed points of T, i.e.,  $F(T) = \{x \in K : Tx = x\}$ , and by  $F := F(T_1) \bigcap F(T_2)$  the set of common fixed points of two mappings  $T_1$  and  $T_2$ .

**Definition 1.1**<sup>[3]</sup> Let E be a real normed linear space, and K be a nonempty subset of E. Let  $P: E \to K$  be the nonexpansive retraction of E onto K. A nonself mapping  $T: K \to E$ is said to be asymptotically nonexpansive if there exists a sequence  $\{k_n\} \subset [1,\infty)$  with  $\lim_{n\to\infty} k_n = 1$  such that for any  $x, y \in K$ ,  $||T(PT)^{n-1}x - T(PT)^{n-1}y|| \leq k_n ||x - y||, n \geq 1$ . T is said to be uniformly L-Lipschitzian if there exists a constant L > 0 such that for all  $x, y \in K$ ,  $||T(PT)^{n-1}x - T(PT)^{n-1}y|| \leq L||x - y||, n \geq 1$ .

Let K be a nonempty closed convex subset of a real uniformly convex Banach space E. Nonself asymptotically nonexpansive mappings have been studied by many authors (see [3–8]). Chidume *et al.*<sup>[3]</sup> studied the following iteration scheme:

$$\begin{cases} x_1 \in K, \\ x_{n+1} = P((1 - \alpha_n)x_n + \alpha_n T(PT)^{n-1}x_n), \quad n \ge 1, \end{cases}$$
(1.2)

where  $\{\alpha_n\}$  is a sequence in (0, 1), and proved some strong and weak convergence theorems of the iteration scheme (1.2).

Wang<sup>[4]</sup> studied the following iteration scheme:

$$\begin{cases} x_1 \in K, \\ x_{n+1} = P((1 - \alpha_n)x_n + \alpha_n T(PT)^{n-1}y_n), \\ y_n = P((1 - \beta_n)x_n + \beta_n T(PT)^{n-1}x_n), \quad n \ge 1, \end{cases}$$
(1.3)

where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are two sequences in  $[0, 1), T_1, T_2 : K \to E$  are two asymptotically nonexpansive nonself mappings, and proved strong and weak convergence theorems of the iteration scheme (1.3). Guo and Guo<sup>[5]</sup> completed the weak convergence theorems of the iteration scheme (1.3). **Remark 1.1** If  $T: K \to E$  is an asymptotically nonexpansive mapping and  $P: E \to K$  is a nonexpansive retraction, then  $PT: K \to K$  is asymptotically nonexpansive. Indeed, for all  $x, y \in K$  and  $n \ge 1$ , it follows that

$$\|(PT)^{n}x - (PT)^{n}y\| = \|PT(PT)^{n-1}x - PT(PT)^{n-1}y\|$$
  
$$\leq \|T(PT)^{n-1}x - T(PT)^{n-1}y\|$$
  
$$\leq k_{n}\|x - y\|.$$

Therefore, Zhou *et al.*<sup>[7]</sup> introduced the following generalized definition:

**Definition 1.2**<sup>[7]</sup> Let E be a real normed linear space, and K be a nonempty subset of E. Let  $P : E \to K$  be the nonexpansive retraction of E onto K. A nonself mapping  $T : K \to E$  is said to be asymptotically nonexpansive with respect to P if there exists a sequence  $\{k_n\} \subset [1, \infty)$  with  $\lim_{n \to \infty} k_n = 1$  such that for any  $x, y \in K$ ,

$$\|(PT)^{n}x - (PT)^{n}y\| \le k_{n}\|x - y\|, \qquad n \ge 1.$$
(1.4)

T is said to be uniformly L-Lipschitzian with respect to P if there exists a constant L > 0such that for all  $x, y \in K$ ,

$$||(PT)^n x - (PT)^n y|| \le L ||x - y||, \quad n \ge 1.$$

Furthermore, by studying the following iterative scheme:

$$\begin{cases} x_1 \in K, \\ x_{n+1} = \alpha_n x_n + \beta_n (PT)^n x_n + \gamma_n (PT)^n x_n, & n \ge 1, \end{cases}$$

$$(1.5)$$

where  $\{\alpha_n\}$  and  $\{\beta_n\}$  and  $\{\gamma_n\}$  are three sequences in [a, 1-a] for some  $a \in (0, 1)$ , satisfying  $\alpha_n + \beta_n + \gamma_n = 1$ , Zhou *et al.*<sup>[7]</sup> obtained some strong and weak convergence theorems for common fixed points of nonself asymptotically nonexpansive mappings with respect to P in uniformly convex Banach spaces. As a consequence, the main results of Chidume *et al.*<sup>[3]</sup> can be deduced.

Recently, Turkmen *et al.*<sup>[8]</sup> generalized the iteration process (1.5) as follows:

$$\begin{cases} x_1 \in K, \\ x_{n+1} = (1 - \alpha_n)(PT_1)^n y_n + \alpha_n (PT_2)^n y_n, \\ y_n = (1 - \beta_n) x_n + \beta_n (PT_1)^n x_n, \quad n \ge 1, \end{cases}$$
(1.6)

where  $\{\alpha_n\}$ ,  $\{\beta_n\}$  are two sequences in [0, 1),  $T_1, T_2 : K \to E$  are two asymptotically nonexpansive nonself mappings, and P is as in Definition 1.2, and obtained the following weak convergence theorem:

**Theorem 1.1**<sup>[8]</sup> Let K be a nonempty closed convex subset of a real uniformly convex and smooth Banach space E satisfying Opial's condition with P as a sunny nonexpansive retraction. Let  $T_1, T_2 : K \to E$  be two weakly inward and nonself asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n\} \subset [1, \infty)$  satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Suppose that  $\{x_n\}$  is defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are two sequences in [a, 1-a]for some  $a \in (0,1)$ . If  $F \neq \emptyset$ , then  $\{x_n\}$  converges weakly to a common fixed point of  $T_1$ and  $T_2$ . Only Theorem 1.1 has been obtained from the weak convergence problem for the sequence defined by (1.6). The purpose of this paper is to prove some new weak convergence theorems of the iteration scheme (1.6) for two asymptotically nonexpansive nonself-mappings in uniformly convex and smooth Banach spaces.

#### 2 Some Lemmas

Let  $T_1, T_2: K \to E$  be two nonself asymptotically nonexpansive mappings with respect to P with sequences  $\{k_n^{(i)}\} \subset [1,\infty)$  satisfying  $\sum_{n=1}^{\infty} (k_n^{(i)} - 1) < \infty$ , i = 1, 2, respectively. Put  $k_n = \max\{k_n^{(1)}, k_n^{(2)}\}$ . Then obviously  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . From now on, we take this sequence  $\{k_n\}$  for both  $T_1$  and  $T_2$ .

In order to prove the main results, we need the following lemmas:

**Lemma 2.1**<sup>[8]</sup> Let E be a real normed linear space, K be a nonempty closed convex subset of E, and  $T_1, T_2 : K \to E$  be two asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n\} \subset [1,\infty)$  satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Suppose that  $\{x_n\}$  is defined by (1.6) and  $F \neq \emptyset$ . Then  $\lim_{n \to \infty} ||x_n - p||$  exists for all  $p \in F$ .

**Lemma 2.2**<sup>[8]</sup> Let K be a nonempty closed convex subset of a real uniformly convex Banach space E, and  $T_1, T_2 : K \to E$  be two asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n\} \subset [1, \infty)$  satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Suppose that  $\{x_n\}$  is defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [a, 1-a] for some  $a \in (0, 1)$ . If  $F \neq \emptyset$ , then  $\lim_{n \to \infty} ||x_n - (PT_1)x_n|| = \lim_{n \to \infty} ||x_n - (PT_2)x_n|| = 0.$ 

**Lemma 2.3**<sup>[9]</sup> Let X be a uniformly convex Banach space and C be a convex subset of X. Then there exists a strictly increasing continuous convex function  $\gamma : [0, \infty) \to [0, \infty)$  with  $\gamma(0) = 0$  such that for each  $S : C \to C$  with Lipschitz constant L,  $\|\alpha Sx + (1-\alpha)Sy - S[\alpha x + (1-\alpha)y]\| \leq L\gamma^{-1} (\|x-y\| - \frac{1}{L} \|Sx - Sy\|), \quad x, y \in C, \ 0 < \alpha < 1.$ 

**Lemma 2.4**<sup>[9]</sup> Let X be a uniformly convex Banach space such that its dual  $X^*$  has the Kadec-Klee property. If  $\{x_n\}$  is a bounded sequence and  $f_1, f_2 \in W_w(\{x_n\})$ , where  $W_w(\{x_n\})$  denotes the set of all weak subsequential limits of a bounded sequence  $\{x_n\}$  in X such that  $\lim_{n\to\infty} \|\alpha x_n + (1-\alpha)f_1 - f_2\|$  exists for all  $\alpha \in [0,1]$ , then  $f_1 = f_2$ .

**Lemma 2.5**<sup>[10]</sup> Let E be a uniformly convex Banach space, K be a nonempty closed convex subset of E, and  $T: K \to K$  be an asymptotically nonexpansive mapping with  $F \neq \emptyset$ . Then I - T is demiclosed at zero, i.e., for each sequence  $\{x_n\}$  in K, if  $\{x_n\}$  converges weakly to  $q \in K$  and  $\{(I - T)x_n\}$  converges strongly to 0, then (I - T)q = 0.

**Lemma 2.6**<sup>[8]</sup> Let E be a real smooth Banach space, K be a nonempty closed convex subset of E with P as a sunny nonexpansive retraction, and  $T: K \to E$  be a mapping satisfying weakly inward condition. Then F(PT) = F(T).

# 3 Main Results

In this section, we prove weak convergence theorems for the iterative scheme (1.6) for two asymptotically nonexpansive nonself-mappings in uniformly convex and smooth Banach spaces.

**Lemma 3.1** Let K be a nonempty closed convex subset of a real uniformly convex and smooth Banach space, and  $T_1, T_2 : K \to E$  be two nonself asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n\} \subset [1,\infty)$  such that  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  and  $F \neq \emptyset$ . Let  $\{x_n\}$  be defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [0,1). Then for all  $q_1, q_2 \in F$ , the limit  $\lim_{n\to\infty} ||tx_n + (1-t)q_1 - q_2||$  exists for all  $t \in [0,1]$ .

*Proof.* Set  $a_n(t) = ||tx_n + (1-t)q_1 - q_2||$ . Then  $\lim_{n \to \infty} a_n(0) = ||q_1 - q_2||$ , and from Lemma 2.1,  $\lim_{n \to \infty} a_n(1) = \lim_{n \to \infty} ||x_n - q_2||$  exists. It remains to prove that the Lemma 3.1 holds for all  $t \in (0, 1)$ .

Define the mapping  $H_n: K \to K$  by  $H_n x = (1 - \alpha_n) (PT_1)^n [(1 - \beta_n) x + \beta_n (PT_1)^n x] + \alpha_n (PT_2)^n [(1 - \beta_n) x + \beta_n (PT_1)^n x], \quad x \in K.$ Then, for all  $x, y \in K$ , by (1.4) we have

$$\|H_n x - H_n y\| \le (1 - \alpha_n) k_n \| (1 - \beta_n) (x - y) + \beta_n [(PT_1)^n x - (PT_1)^n y] \| + \alpha_n k_n \| (1 - \beta_n) (x - y) + \beta_n [(PT_1)^n x - (PT_1)^n y] \| \le k_n (1 - \beta_n) \| x - y \| + k_n^2 \beta_n \| x - y \| \le k_n^2 \| x - y \|.$$
(3.1)

Set

$$R_{n,m} = H_{n+m-1}H_{n+m-2}\cdots H_n, \qquad m \ge 1.$$
(3.2)

From (3.1) and (3.2), we can obtain that

$$||R_{n,m}x - R_{n,m}y|| \le \Big(\prod_{j=n}^{n+m-1} k_j^2\Big)||x - y||, \qquad x, y \in K,$$
(3.3)

and  $R_{n,m}x_n = x_{n+m}$ ,  $R_{n,m}q = q$  for each  $q \in F$ . Let

$$b_{n,m} = \|tR_{n,m}x_n + (1-t)R_{n,m}q_1 - R_{n,m}(tx_n + (1-t)q_1)\|.$$
(3.4)  
(3.4) and Lemma 2.3, we have

Using (3.3), (3.4) and Lemma 2.3, we have

$$b_{n,m} \leq \Big(\prod_{j=n}^{n+m-1} k_j^2\Big)\gamma^{-1}\Big(\|x_n - q_1\| - \Big(\prod_{j=n}^{n+m-1} k_j^2\Big)^{-1}\|R_{n,m}x_n - R_{n,m}q_1\|\Big)$$
  
$$\leq \Big(\prod_{j=n}^{\infty} k_j^2\Big)\gamma^{-1}\Big(\|x_n - q_1\| - \Big(\prod_{j=n}^{\infty} k_j^2\Big)^{-1}\|R_{n,m}x_n - R_{n,m}q_1\|\Big).$$
(3.5)

It follows from Lemma 2.1, (3.3), (3.5) and  $\lim_{n\to\infty} \prod_{j=n}^{\infty} k_j^2 = 1$  that  $\lim_{n\to\infty} b_{n,m} = 0$  uniformly for all m. Observe that

$$a_{n+m}(t) \le \|tx_{n+m} + (1-t)q_1 - q_2 + R_{n,m}(tx_n + (1-t)q_1) - tR_{n,m}x_n - (1-t)R_{n,m}q_1\| \\ + \| - R_{n,m}(tx_n + (1-t)q_1) + tR_{n,m}x_n + (1-t)R_{n,m}q_1\|$$

$$= \|R_{n,m}(tx_n + (1-t)q_1) - q_2\| + b_{n,m}$$

$$= \|R_{n,m}(tx_n + (1-t)q_1) - R_{n,m}q_2\| + b_{n,m}$$

$$\leq \left(\prod_{j=n}^{n+m-1} k_j^2\right) \|tx_n + (1-t)q_1 - q_2\| + b_{n,m}.$$
(3.6)

By  $\lim_{n \to \infty} \prod_{j=n}^{\infty} k_j^2 = 1$ ,  $\lim_{n \to \infty} b_{n,m} = 0$  and (3.6), we have

$$\limsup_{n \to \infty} a_n \le \lim_{n, m \to \infty} b_{n,m} + \liminf_{n \to \infty} a_n(t).$$

That is,  $\lim_{n \to \infty} ||tx_n + (1-t)q_1 - q_2||$  exists for all  $t \in (0, 1)$ . This completes the proof.

**Lemma 3.2** Let *E* be a uniformly convex Banach space which has a Fréchet differentiable norm, *K* be a nonempty closed convex subset of *E*, and *T*<sub>1</sub>, *T*<sub>2</sub> : *K*  $\rightarrow$  *E* be two nonself asymptotically nonexpansive mappings with a sequence  $\{k_n\} \subset [1, \infty)$  such that  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  and  $F \neq \emptyset$ . Let  $\{x_n\}$  be defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are two real sequences in [0, 1). Then for all  $q_1, q_2 \in F$ , the limit  $\lim_{n \to \infty} \langle x_n, j(p-q) \rangle$  exists. Furthermore, if  $W_w(x_n)$ denotes the set of all weak subsequential limits of  $\{x_n\}$ , then  $\langle x^* - y^*, j(q_1 - q_2) \rangle = 0$  for all  $q_1, q_2 \in F$  and  $x^*, y^* \in W_w(x_n)$ .

*Proof.* This follows basically as in the proof of Lemma 4 in [1]. For completeness, we sketch the details. Set  $x = q_1 - q_2$  and  $h = t(x_n - q_1)$ ,  $0 \le t \le 1$  in (1.1). Since b is increasing, and  $||x_n - q_1|| \le M$  for some M > 0 and all  $n \ge 1$ , by Lemma 2.1, we have

$$\frac{1}{2} \|q_1 - q_2\|^2 + t \langle x_n - q_1, \ j(q_1 - q_2) \rangle 
\leq \frac{1}{2} \|tx_n + (1 - t)q_1 - q_2\|^2 
\leq \frac{1}{2} \|q_1 - q_2\|^2 + t \langle x_n - q_1, \ j(q_1 - q_2) \rangle + b(tM).$$
(3.7)

It follows from (3.7) and Lemma 3.1 that

$$\frac{1}{2} \|q_1 - q_2\|^2 + t \limsup_{n \to \infty} \langle x_n - q_1, \ j(q_1 - q_2) \rangle \\
\leq \frac{1}{2} \lim_{n \to \infty} \|tx_n + (1 - t)q_1 - q_2\|^2 \\
\leq \frac{1}{2} \|q_1 - q_2\|^2 + t \liminf_{n \to \infty} \langle x_n - q_1, \ j(q_1 - q_2) \rangle + b(tM).$$
(3.8)

So by (3.8) we have

 $\limsup_{n \to \infty} \langle x_n - q_1, \ j(q_1 - q_2) \rangle \le \liminf_{n \to \infty} \langle x_n - q_1, \ j(q_1 - q_2) \rangle + \frac{b(tM)}{t}, \qquad 0 < t \le 1.$ (3.9) From (3.9) and

$$\lim_{t \to 0^+} \frac{b(tM)}{t} = \lim_{t \to 0^+} \frac{Mb(tM)}{tM} = 0,$$

we know that the limit  $\lim_{n\to\infty} \langle x_n - q_1, j(q_1 - q_2) \rangle$  exists. Furthermore, there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  such that  $\lim_{k\to\infty} \langle x_{n_k} - q_1, j(q_1 - q_2) \rangle = \langle x^* - q_1, j(q_1 - q_2) \rangle$ , and so

$$\lim_{n \to \infty} \langle x_n - q_1, \ j(q_1 - q_2) \rangle = \langle x^* - q_1, \ j(q_1 - q_2) \rangle, \qquad x^* \in W_w(x_n).$$

This shows that  $\langle x^* - y^*, j(q_1 - q_2) \rangle = 0$  for all  $q_1, q_2 \in F$  and  $x^*, y^* \in W_w(x_n)$ . This completes the proof.

**Theorem 3.1** Let *E* be a real uniformly convex and smooth Banach space which has a Fréchet differentiable norm, *K* be a nonempty closed convex subset of *E* with *P* as a sunny nonexpansive retraction, and  $T_1, T_2 : K \to E$  be two weakly inward nonself asymptotically nonexpansive mappings with respect to *P* with a sequence  $\{k_n\} \subset [1,\infty)$  such that  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  and  $F \neq \emptyset$ . Let  $\{x_n\}$  be defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [a, 1-a] for some a > 0. Then  $\{x_n\}$  converges weakly to a common fixed point of  $T_1$  and  $T_2$ .

*Proof.* By Lemma 2.1,  $\{x_n\}$  is bounded. Since E is reflexive, there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  which converges weakly to some  $q \in K$ . By Lemma 2.2, we have

$$\lim_{n \to \infty} \|x_{n_k} - (PT_1)x_{n_k}\| = \lim_{n \to \infty} \|x_{n_k} - (PT_2)x_{n_k}\| = 0.$$

It follows from Remark 1.1 and Lemma 2.5 that  $q \in F(PT_1) \bigcap F(PT_2)$ , where  $F(PT_i)$  is the set of fixed points of the asymptotically nonexpansive mapping  $PT_i$ , i = 1, 2. By Lemma 2.6, we know that  $F(PT_i) = F(T_i)$ . So, we have  $q \in F$ .

Now, we prove that  $\{x_n\}$  converges weakly to q. Suppose that there exists some subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  such that  $\{x_{n_j}\}$  converges weakly to some  $q_1 \in K$ . Then by the same method as given above, we can also prove that  $q_1 \in F$ . So  $q, q_1 \in F \bigcap W_w(x_n)$ . It follows from Lemma 3.2 that

$$||q - q_1||^2 = \langle q - q_1, j(q - q_1) \rangle = 0.$$

Therefore,  $q = q_1$  and so  $\{x_n\}$  converges weakly to q. This completes the proof.

**Theorem 3.2** Let E be a real uniformly convex and smooth Banach space E such that its dual  $E^*$  has the Kadec-Klee property, and K be a nonempty closed convex subset of E with P as a sunny nonexpansive retraction. Let  $T_1, T_2 : K \to E$  be two weakly inward nonself asymptotically nonexpansive mappings with respect to P with a sequence  $\{k_n\} \subset [1, \infty)$  such that  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  and  $F \neq \emptyset$ . Let  $\{x_n\}$  be defined by (1.6), where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [a, 1-a] for some a > 0. Then  $\{x_n\}$  converges weakly to a common fixed point of  $T_1$  and  $T_2$ .

*Proof.* Using the same method as given in Theorem 3.1, we can prove that there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  which converges weakly to some  $q \in F$ .

Now, we prove that  $\{x_n\}$  converges weakly to q. Suppose that there exists some subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  which converges weakly to some  $p \in K$ . Then, for  $q, p \in F$ , it follows from Lemma 3.1 that the limit  $\lim_{n\to\infty} ||tx_n + (1-t)q - p||$  exists for all  $t \in [0,1]$ . Again, since  $q, p \in W_w(x_n)$ , and so p = q by Lemma 2.4, we know that  $\{x_n\}$  converges weakly to a common fixed point q. This completes the proof.

**Remark 3.1** (1) It is well known (see, for example, [11]) that some Banach spaces, such as  $L_p$  space with  $p \neq 2$ , do not satisfy Opial's condition. Also, it is well known that

every Banach space, which is both uniformly convex and uniformly smooth, has a Fréchet differentiable norm. In particular,  $L_p$  space, 1 , has a Fréchet differentiable norm. That shows that a Banach space which has a Fréchet differentiable norm is different from the Banach space satisfying Opial's condition.

(2) It is also needed to point out that even if a Banach space neither has a Fréchet differentiable norm nor satisfies Opial's condition, its dual still may have the Kadec-Klee property. For example, see [9], [12]. Take  $X_1 = \mathbf{R}^2$  with the norm defined by  $|x| = \sqrt{\|x\|_2^2 + \|x\|_1^2}$  and  $X_2 = L^p[0,1]$  with  $1 and <math>p \neq 2$ . The Cartesian product of  $X_1$  and  $X_2$  furnished with  $l^2$ -norm is uniformly convex, it does not satisfy Opial's condition, and its norm is not Fréchet differentiable, but its dual does have the Kadec-Klee property.

## References

- Osilike M O, Udomene A. Demiclosedness principle and convergence theorems for strictly pseudocontractive mappings of Browder-Petryshyn type. J. Math. Anal. Appl., 2001, 256(2): 431–445.
- [2] Goebel K, Kirk W A. Topics in Metric Fixed Point Theory. in: Cambridge Studies in Advanced Mathematics. vol. 28. Cambridge, UK: Cambridge Univ. Press, 1990.
- [3] Chidume C E, Ofoedu E U, Zegeye H. Strong and weak convergence theorems for asymptotically nonexpansive mappings. J. Math. Anal. Appl., 2003, 280(2): 364–374.
- [4] Wang L. Strong and weak convergence theorems for common fixed points of nonself asymptotically nonexpansive mappings. J. Math. Anal. Appl., 2006, 323(1): 550–557.
- [5] Guo W, Guo W. Weak convergence theorems for asymptotically nonexpansive nonselfmappings. Appl. Math. Lett., 2011, 24(12): 2181–2185.
- [6] Su Y, Qin X L. Approximating fixed points of non-self asymptotically Nonexpansive mappings in Banach space. J. Appl. Math. Stochastic Anal., 2006, article ID 21961 : 1–13, doi: 10.1155/JAMSA/2006/21961.
- [7] Zhou H Y, Cho Y J, Kang S M. A new iterative algorithm for approximating common fixed points for asymptotically nonexpansive mappings. *Fixed Point Theory Appl.*, 2007, article ID 64874: 1–10, doi: 10.1155/2007/64874.
- [8] Turkmen E, Khan S H, Ozdemior M. Iterative approximation of common fixed points of two nonself asymptotically nonexpansive mappings. *Discrete Dynam. Nat. Soc.*, 2011, article ID 487864: 1–16, doi: 10.1155/2011/487864.
- [9] Falset J G, Kaczor W, Kuczumow T, Reich S. Weak convergence theorems for asymptotically nonexpansive mappings and semigroups. *Nonlinear Anal.*, 2001, 43(3): 377–401.
- [10] Gu F. Convergence of implicit iterative process with errors for a finite family of asymptotically nonexpansive mappings. Acta. Math. Sci., 2006, 26A(7): 1131–1143.
- [11] Emmanuele G. Asymptotic behavior of iterates of nonexpansive mappings in Banach space with Opial's condition. Proc. Amer. Math. Soc., 1985, 94(1): 103–109.
- [12] Kazor W. Weak convergence of almost orbits of asymptotically nonexpansive commutative semigroups. J. Math. Anal. Appl., 2002, 272(2): 565–574.